1. A 31kg crate in a warehouse is lifted 3.4m in the air by a forklift and placed on a shelf in a
time of 3.8seconds. What work was done on the box by the forklift?

2. If the mass of the crate were tripled, and nothing else was changed, how much work would be
required to lift the crate?

3. If the height of the shelf was halved, and nothing else was changed, how much work world be
required to lift the crate?

4. If the time taken to lift the crate was doubled, and nothing else was changed, how much work
would be required to lift the crate?

5. If the forklift lifted the crate to the height of the shelf and put it back on the ground, what is
the work done by the forklift?

Solution

A=mgh=31%98%34=1032,92]

A; = 3mgh = 34 = 3098,76

A, =mgsh=>A= 51646

A =mgh =31%9.8*3.4 =1032,92 ] work would be required to lift the crate doesn’t

depend on time
5. A=0=mgh-mgh
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